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No 5 PN B DIERE o L-134 o L-137 SEfE

Bag. kg Ba. kg Ba ke
1 =ka7) R7.6.30 INLA3 BRHEE9(<3.8) BRHET(<2.8) BRHEEY
2 ABITH R7.6.30 A3 BRHEE9(<2.9) BREE9(<2.6) BHEEY
3 EHEE™ R7.6.30 R BRHET(<4.0) BRHET(<40) BREed
4 EMEEm R7.6.30 AyF—= BREE9(<34) BRHEE9(<2.8) -
5 EHEE™ R7.6.30 W e & 2y Y BRHET(<4.6) BRHET(<3.4) BREed
6 FETH R7.7.1 ST (FEER) BREE9(<4.3) BRHEE9(<2.8) -
7 FEH R7.7.1 YVILLSY X (HEER) BREE3(<4.6) BRHE3(<3.8) BEed
8 FEH R7.7.1 A3 BRHEE9(<3.8) B®RHEE9(<2.6) BT
9 SEYTHT R7.7.1 YILLSY X BRHET(<L5.0) BRHE9(<L5.7) BRHEET
10 SETHT R7.7.1 INLA3 BREE9(<34) BRHEE9(<2.2) BT
11 = RET R7.7.1 INLA3 BRHET(<4.0) BRHET(<2.7) BRHEET
12 S=AET R7.6.30 INLA3 BREE9(<2.9) B®RHE97(<3.3) - daskcac
13 RFF R7.7.1 Fk (FEER) BRHET(<3.8) BRHE9(<3.3) BRHEET
14 RFEF R7.7.1 + 2 BRHEE9(<3.5) BRHEE9(<4.8) - daskcac
15 HRH R7.7.1 ERT BRHEE9(<5.3) BRHE3(<3.8) BEed
16 RRHT R7.7.1 BIRE BREE9(<47) BRHE9(<35) BrEed
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17 = 2T R7.7.1 FaoY (FEE%) BRHE9(<38) BRHEE9(<43) BRHEEY
18 LB R H R7.7.2 A% BRHE9(<3.3) BRHE9(<2.9) > Jarkcacl
19 s EET R7.7.2 YILLTYF BREET(<46) B E9(<45) : Jarhcars
20 BERhHT R7.7.1 E—<> BRHE9(<38) BRHE9(<3.8) > Jarkcacl
21 BELRHET R7.7.1 bk (hEE%) BHE9(<24) ‘e 9(<24) BEEY
22 FEE CET R7.7.1 JAayal— B 9(<6.5) B 9(<5.5) > Jarkcacl
23 Y CHT R7.7.1 SR (EERR) BRHE9(<29) BRHE9(<23) BRHEEY
24 ¥ ACHT R7.7.1 E—<> (%) BRHE9(<3.9) BRHE9(<28) BRHEEY
25 Y CHT R7.7.1 YILLSHF BRHE9(<38) BRHEE9(<3.2) BRHEEY
26 ¥ ACHT R7.7.1 ERE S BRHE9(<5.3) BRHE9(<3.9) BRHEEY
27 b= i) R7.7.1 FEE S BRHEE7(<3.0) RHEE9(<3.9) BRHEY
28 SRIBE A R7.6.26 AR BRHEE7(<35) BRHE7(<38) BRHEY
29 P EF R7.6.26 HRF v BRHEET(<34) R E9(<3.0) BRHEY
30 P EF R7.6.26 Vi P2 BRHE9(<48) BRHE7(<38) BRHEY
31 FKWRET R7.6.26 A3 BRHEET(<41) BREEY(<27) BRHEY
32 R WRHET R7.6.30 S (REER) BREET(<31) BRHEE9(<3.0) BREEY
33 = BT R7.6.30 A3 BRHEET(<41) BRHE9(<4.8) BRHEY
34 WA= ET R7.6.30 = Ty BRHEET(<44) BRHEE7(<29) BREEY
35 fNIF R7.6.30 bk (FEER) BRHE9(<38) BRHEE9(<1.9) BREEY
36 IS R7.6.30 FaoY (FE%) BRHEE7(<38) BREE9(<3.0) BREEY
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37 lIES R7.6.30 AT BRHEE7(<42) BRHEE9(<33) BREEY
38 BNIF R7.6.30 Jayal— (R BRHE9(<48) BRHE9(<43) > Jarkcacl
39 E)I# R7.6.30 ATRE BEE7(<5.8) B E9(<45) : Jarhcars
40 % )IET R7.7.1 A% BRHE9(<45) BRHE9(<4.8) > Jarkcacl
41  BRET R7.7.1 Fao) (&%) BHE9(<42) ‘e 9(<3.2) BEEY
42 [ EFHT R7.7.1 RyF—= BRHE9(<6.1) BRHE9(<4.9) > Jarkcacl
43 [ EFET R7.7.1 CRZNTA BRHEEY(<34) BREEY(<27) BRHEEY
44 [ EFHT R7.7.1 roEOOY BRHEE9(<5.4) BRHEE7(<3.9) BRHEEY
45 [ EFET R7.7.1 VAPM % BRHE9(<6.7) BRHE9(<45) BRHEEY
46 [LEFHT R7.7.1 FAN BHE9(<7.3) BRHE9(<6.3) BHEd
47 [5EFHT R7.7.1 E—<> BRHEET(<41) BRHE9(<3.3) BRHEY
48 HE ZEHT R7.7.1 SUNIATY (HEER) BRHE9(<4.8) BRHE9(<5.3) BHEd
49 JRGTHT R7.7.1 FR BRHE9(<45) BRHEEY(<44) BRHEY
50 JRSTHT R7.7.1 E—<> BRHE7(<5.8) BRHEE7(<3.9) BRHEY
51 EREEAT R7.6.30 FaoY BRHE9(<38) BRHE9(<2.9) BRHEY
52 BREEHT R7.6.30 i P2 BRHEE7(<5.9) B E9(<5.5) BREEY
53 EREEAT R7.6.30 FR BRHEEY(<3) BRHE9(<3.8) BRHEY
54 BE™ R7.6.30 EE BHE9(<38) BRHE9(<4.0) BREEY
55 'E™ R7.6.30 RAEE BREEY(<2.1) BRHE9(<2.6) BREEY
56 =pok] R7.6.26 TI—AR1— BRHEE7(<5.8) BREET(<41) BREEY




BREHR

No 15 £RE A AHDEHE > L-134 > L-137 BEIE
Ba ke Ba ke Ba kg
57 FET R7.7.1 EE BRHEES(<5.7) R 9(<5.8) BRHEEY
58 SEHTHT R7.7.1 EE BRHEET(<44) B 9(<4.0) > Jarkcacl
59 = R AT R7.7.1 TE BREET(<3.6) BEE9(<29) : Jarhcars
60 RIEIRTHET R7.7.2 RAEE BRHEE (<31 BRHE9(<2.9) > Jarkcacl
61 RIERTHET R7.7.2 EE BEE7(<35) BEE9(<29) : Jarhcars
62 RIEXER R7.7.2 RAEE BRHE9(<3.3) B E9(<20) > Jarkcacl
63 tEET R7.7.1 EE BRHEE7(<4.6) BRHEET(<37) BRHEEY
64 [ EFHT R7.7.1 RAEE BRHEET(<3.1) BRHEE9(<1.9) BRHEEY
65 BEHM R7.7.1 TI—AR1— BRHEET(<3.2) BRHEET(<3.1) BRHEEY
66 BEH R7.7.1 TIL—~1— BRHE9(<4.0) B 9(<3.6) BRHEEY

BRBEEEICB TP —BREROEEE 9L 100Bg/kg(E> 9 L-134, £ H L-13TDOEEIE)




